H & 0l & AHS B Ml A

2N BEH
M Z=0l BOISF(2SH)
o2l =0 HoSX (G2 &2l)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
239 196,748 197,166 A418
0l HOSX(ESH) 140,759 139,980 779
=0l HABA 140,759 139,930 779
=0 HoSA 133,493 132,744 749
101 2124l 9,143 8,891 252
M IIZINZ22 NS Es 9,143 8,891 252
OdtHl 29 - A= 1R Y 4,485
foledRalsll 78,4002 x55! 4,312
oMMEE = 4,312,000 *4% 173
O4arnl sZ & 212y 4,658
oMlZ= - SHE &I 78,4003 *5F x2 2 43 3,136
o0l =& 83,8403 x4 H x4 1,342
oMEE = 4,478,000& *4% 180
201 B2 AY| 8,200 8,200
01 AtR2telt] 1,000 1,000
OME0IR Xeldl 1,000
2 SE=29| 7,200 7,200 0
O=Xzl2 249H| 7,200
206 =4l 8,510 8,013 497
01 =Yl 8,510 8,013 497
O2DIR Heldl 4,000
OBt g - A= K8 2 4,510
oFER 1,7002 %10 £ 55 935
ol 2 SR 50,0003 *1.3&*55! 3,575
301 LetENZ 107,640 107,640
07 8% - 01% - BHEESEAZ 107,640 107,640
OO0l &Y 300,000& x23H x 12& 82,800
O0IEAN3 300,000 x23H 23| 13,800
O0l&E3l9 &&H
20,0003 *23H 23|« 12 11,040
SotHl A 2 HSSE 2l 4,466 4,436 30
101 2124l 1,446 1,416 30
M IIZNZ2 NS Es 1,446 1,416 30
OssHsSE 2l 975
ofll= - X &Y elfY
83,8403 x3H 2 504
OMIZ=ZE o2 78,4002 +2H 3 4n
OYolMl iz 22| (H=&g ol2)
78,4003 *3H x2 471
201 Ler23H| 3,020 3,020
01 AtR2elt] 800 800
(OF=EaS=a—JEeiell 800
02 324l 2,220 2,220 0
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